DOI 10.1515/tmj-2017-0053

A closed form for the Stirling polynomials in terms of the Stirling numbers

Feng Qi^1 and Bai-Ni Guo^2

^{1,2}Institute of Mathematics, Henan Polytechnic University, Jiaozuo, Henan, 454010, China
¹College of Mathematics, Inner Mongolia University for Nationalities, Tongliao, Inner Mongolia, 028043, China
¹Department of Mathematics, College of Science, Tianjin Polytechnic University, Tianjin, 300387, China
E-mail: gifeng6180gmail.com¹, gifeng6180hotmail.com¹, bai.ni.guo0gmail.com², bai.ni.guo0hotmail.com²

Abstract

In the paper, by virtue of the Faá di Bruno formula and two identities for the Bell polynomial of the second kind, the authors find a closed form for the Stirling polynomials in terms of the Stirling numbers of the first and second kinds.

2010 Mathematics Subject Classification. **11B83**. 11B68, 33B10 Keywords. Closed form, Stirling polynomial, Stirling number, Bernoulli number, Faá di Bruno's formula, Bell polynomial.

1 Notation and main result

It is common knowledge [1, p. 48] that the Bernoulli numbers B_i are defined by

$$\frac{z}{e^z - 1} = \sum_{j=0}^{\infty} B_j \frac{z^j}{j!} = 1 - \frac{z}{2} + \sum_{j=1}^{\infty} B_{2j} \frac{z^{2j}}{(2j)!}, \quad |z| < 2\pi.$$

For some new developments in recent years about this topic, please refer to [2, 3, 5, 9, 12] and the closely related references therein.

The Stirling numbers of the first and second kinds s(n,k) and S(n,k) are important in combinatorial analysis, theory of special functions, and number theory. They can be generated by the rising factorial

$$(x)_n = \prod_{k=0}^{n-1} (x+k) = \sum_{k=0}^n s(n,k) x^k$$
(1)

and the exponential function

$$\frac{(e^x - 1)^k}{k!} = \sum_{n=k}^{\infty} S(n, k) \frac{x^n}{n!},$$

see [1, p. 213, Theorem A] and [1, p. 206, Theorem A], and can be computed by explicit formulas

$$s(n,k) = (-1)^{n+k} (n-1)! \sum_{\ell_1=1}^{n-1} \frac{1}{\ell_1} \sum_{\ell_2=1}^{\ell_1-1} \frac{1}{\ell_2} \cdots \sum_{\ell_{k-2}=1}^{\ell_{k-3}-1} \frac{1}{\ell_{k-2}} \sum_{\ell_{k-1}=1}^{\ell_{k-2}-1} \frac{1}{\ell_{k-1}} \sum_{\ell_{k-1}=1}^{\ell_{k-2}-1} \frac{1}{\ell_{k-1}} \sum_{\ell_{k-1}=1}^{\ell_{k-2}-1} \frac{1}{\ell_{k-2}} \sum_{\ell_{k-2}=1}^{\ell_{k-2}-1} \frac{1}{\ell_{k-2}-1} \sum_{\ell_{k-2}=1}^{\ell_{k-2}-1} \frac{1}{\ell_{k-2}-1} \sum_{\ell_{k-2}=1}^{\ell_{k-2}-1} \frac{1}{\ell_{k-2}-1} \sum_{\ell_{k-2}=1}^{\ell_{k-2}-1} \sum_{\ell_{k-2}=1}^{\ell_{k-2}-1} \sum_{\ell_{k-2}=1}^{\ell_{k-2}-1} \frac{1}{\ell_{k-2}-1} \sum_{\ell_{k-2}=1}^{\ell_{k-2}-1} \sum$$

for $1 \leq k \leq n$ and

$$S(n,k) = \frac{1}{k!} \sum_{\ell=1}^{k} (-1)^{k-\ell} \binom{k}{\ell} \ell^{n},$$

Tbilisi Mathematical Journal 10(4) (2017), pp. 153–158. Tbilisi Centre for Mathematical Sciences.

Received by the editors: 12 June 2017. Accepted for publication: 20 September 2017. Unauthenticated Download Date | 2/28/18 8:06 AM see [11, Corollary 2.3] and [1, p. 206]. For recent investigations on the Stirling numbers of the first and second kinds s(n,k) and S(n,k), please refer to [5, 9, 10, 11] and plenty of references cited therein.

The Stirling polynomials $S_k(x)$ are a family of polynomials that generalize the Bernoulli numbers B_k and the Stirling numbers of the second kind S(n,k). The Stirling polynomials $S_k(x)$ for nonnegative integers k are defined by the generating function

$$\left(\frac{t}{1-e^{-t}}\right)^{x+1} = \sum_{k=0}^{\infty} S_k(x) \frac{t^k}{k!}.$$

The first six Stirling polynomials $S_k(x)$ for $0 \le k \le 5$ are

$$1, \quad \frac{x+1}{2}, \quad \frac{3x^2+5x+2}{12}, \quad \frac{x^3+2x^2+x}{8}, \\ \frac{15x^4+30x^3+5x^2-18x-8}{240}, \quad \frac{3x^5+5x^4-5x^3-13x^2-6x}{96}.$$

The Stirling polynomials $S_k(x)$ for $k \ge 0$ are special cases of the Nölund polynomials $B_k^{(x)}(z)$ defined by

$$\left(\frac{t}{e^t - 1}\right)^x e^{zt} = \sum_{k=0}^\infty B_k^{(x)}(z) \frac{t^k}{k!},$$

namely, $S_k(x) = B_k^{(x+1)}(x+1)$. See [8, Chapter 6].

By the way, the polynomials $\psi_k(x)$ defined by

$$\left(\frac{t}{1-e^{-t}}\right)^{x+1} = 1 + (x+1)\sum_{k=0}^{\infty}\psi_k(x)t^{k+1}$$

are also called the Stirling polynomials in [6] and [7, p. 71].

We can easily check

$$S_k(0) = (-1)^k B_k$$
 and $S_k(-m) = \frac{(-1)^k}{\binom{k+m-1}{k}} S(k+m-1,m-1)$

for $m \geq 1$. Moreover, the explicit formulas

$$S_k(x) = (-1)^k \sum_{j=0}^k (-1)^j S(k+j,j) \frac{\binom{x+j}{j} \binom{x+k+1}{k-j}}{\binom{k+j}{j}}$$
$$= \sum_{j=0}^k (-1)^j s(k+j+1,j+1) \frac{\binom{x-k}{j} \binom{x-k-j-1}{k-j}}{\binom{k+j}{k}},$$

which come from Lagrange's interpolation formula, are known. For more information on $S_k(x)$, see the papers [15, 16] and the closely related references therein.

A closed form for Stirling polynomials

A closed form is a mathematical expression that can be evaluated in a finite number of operations. It may contain constants, variables, four arithmetic operations, and elementary functions, but usually no limit.

In this paper, we find a closed form for the Stirling polynomials $S_k(x)$ in terms of the Stirling numbers of the first and second kinds s(n,k) and S(n,k).

Our main result can be stated as the following theorem.

Theorem 1. For $k \geq 0$, the Stirling polynomials $S_k(x)$ can be computed by the closed form

$$S_k(x) = (-1)^k k! \sum_{m=0}^k \left[\sum_{\ell=m}^k \frac{s(\ell+1,m+1)}{(k+\ell)!} \sum_{i=0}^\ell (-1)^i \binom{k+\ell}{\ell-i} S(k+i,i) \right] x^m.$$
(2)

2 Proof of Theorem 1

The Bell polynomials of the second kind, or say, partial Bell polynomials, denoted by $B_{n,k}(x_1, x_2, \ldots, x_{n-k+1})$ for $n \ge k \ge 0$, are defined by

$$B_{n,k}(x_1, x_2, \dots, x_{n-k+1}) = \sum_{\substack{\ell_1, \dots, \ell_n \in \{0\} \cup \mathbb{N} \\ \sum_{i=1}^{n} i\ell_i = n \\ \sum_{i=1}^{n} \ell_i = k}} \frac{n!}{\prod_{i=1}^{n-k+1} \ell_i!} \prod_{i=1}^{n-k+1} \left(\frac{x_i}{i!}\right)^{\ell_i}.$$

See [1, p. 134, Theorem A]. They satisfy

$$B_{n,k}(abx_1, ab^2x_2, \dots, ab^{n-k+1}x_{n-k+1}) = a^k b^n B_{n,k}(x_1, x_2, \dots, x_{n-k+1})$$
(3)

for complex numbers a and b, see [1, p. 135], and

$$B_{n,k}\left(\frac{1}{2},\frac{1}{3},\ldots,\frac{1}{n-k+2}\right) = \frac{n!}{(n+k)!} \sum_{i=0}^{k} (-1)^{k-i} \binom{n+k}{k-i} S(n+i,i),$$
(4)

see [3, Theorem 1 and Remark 1], [4, p. 30], [10, p. 315], [12, Lemma 2.3], [14, Remark 2.1], and [17, Example 4.2].

The Faà di Bruno formula can be described in terms of the Bell polynomials of the second kind $B_{n,k}(x_1, x_2, \ldots, x_{n-k+1})$ by

$$\frac{\mathrm{d}^{n}}{\mathrm{d}t^{n}}f \circ h(t) = \sum_{k=0}^{n} f^{(k)}(h(t)) \mathrm{B}_{n,k}(h'(t), h''(t), \dots, h^{(n-k+1)}(t)).$$
(5)

See [1, p. 139, Theorem C].

Taking $f(u) = u^{-(x+1)}$ and $u = h(t) = \frac{1-e^{-t}}{t}$ in the formula (5) and using the limit

$$\lim_{t \to 0} u = \lim_{t \to 0} h(t) = \lim_{t \to 0} \frac{1 - e^{-t}}{t} = 1$$

yield

$$\frac{\mathrm{d}^{k}}{\mathrm{d}\,t^{k}} \left[\left(\frac{t}{1 - e^{-t}} \right)^{x+1} \right] = \sum_{\ell=0}^{k} \frac{\langle -(x+1) \rangle_{\ell}}{u^{(x+1)+\ell}} \mathrm{B}_{k,\ell} \left(h'(t), h''(t), \dots, h^{(k-\ell+1)}(t) \right) \to \sum_{\ell=0}^{k} \langle -(x+1) \rangle_{\ell} \mathrm{B}_{k,\ell} \left(h'(0), h''(0), \dots, h^{(k-\ell+1)}(0) \right)$$

as $t \to 0$, where

$$\langle x \rangle_n = \prod_{\ell=0}^{n-1} (x-\ell) = \begin{cases} x(x-1)\cdots(x-n+1), & n \ge 1\\ 1, & n=0 \end{cases}$$

is the falling factorial of $x \in \mathbb{R}$ for $n \in \{0\} \cup \mathbb{N}$. It is not difficult to see that

$$\langle -(x+1) \rangle_{\ell} = \prod_{m=0}^{\ell-1} [-(x+1) - m] = (-1)^{\ell} \prod_{m=0}^{\ell-1} (x+m+1)$$
$$= (-1)^{\ell} \prod_{m=1}^{\ell} (x+m) = \frac{(-1)^{\ell}}{x} \prod_{m=0}^{\ell} (x+m) = \frac{(-1)^{\ell}}{x} (x)_{\ell+1},$$

where $(x)_n$ is defined by (1). Hence, it follows that

$$\langle -(x+1) \rangle_{\ell} = \frac{(-1)^{\ell}}{x} \sum_{m=0}^{\ell+1} s(\ell+1,m)x^m, \quad \ell \ge 0.$$

Since

$$h^{(\ell)}(t) = \int_{1/e}^{1} s^{t-1} (\ln s)^{\ell} \, \mathrm{d} \, s \to \frac{(-1)^{\ell}}{1+\ell}, \quad t \to 0, \quad \ell \ge 0,$$

by virtue of (3) and (4), we have

$$B_{k,\ell}(h'(0), h''(0), \dots, h^{(k-\ell+1)}(0)) = B_{k,\ell}\left(-\frac{1}{2}, \frac{1}{3}, \dots, \frac{(-1)^{k-\ell+1}}{k-\ell+2}\right)$$
$$= (-1)^k B_{k,\ell}\left(\frac{1}{2}, \frac{1}{3}, \dots, \frac{1}{k-\ell+2}\right) = \frac{(-1)^{k+\ell}k!}{(k+\ell)!} \sum_{i=0}^{\ell} (-1)^i \binom{k+\ell}{\ell-i} S(k+i,i).$$

156

Accordingly, we obtain

$$\lim_{t \to 0} \frac{\mathrm{d}^k}{\mathrm{d}\,t^k} \left[\left(\frac{t}{1 - e^{-t}} \right)^{x+1} \right]$$
$$= \sum_{\ell=0}^k \left[\frac{(-1)^\ell}{x} \sum_{m=0}^{\ell+1} s(\ell+1,m) x^m \right] \left[\frac{(-1)^{k+\ell}k!}{(k+\ell)!} \sum_{i=0}^\ell (-1)^i \binom{k+\ell}{\ell-i} S(k+i,i) \right]$$
$$= \frac{(-1)^k k!}{x} \sum_{\ell=0}^k \frac{1}{(k+\ell)!} \left[\sum_{i=0}^\ell (-1)^i \binom{k+\ell}{\ell-i} S(k+i,i) \right] \left[\sum_{m=0}^{\ell+1} s(\ell+1,m) x^m \right]$$
$$= \frac{(-1)^k k!}{x} \sum_{m=0}^{k+1} \left[\sum_{\ell=m-1}^k \frac{s(\ell+1,m)}{(k+\ell)!} \sum_{i=0}^\ell (-1)^i \binom{k+\ell}{\ell-i} S(k+i,i) \right] x^m.$$

The explicit formula (2) is thus proved. The proof of Theorem 1 is complete.

Remark 1. This paper is a slightly revised version of the preprint [13].

Acknowledgements

The authors are grateful to the anonymous referees for their careful corrections to and valuable comments on the original version of this paper.

References

- L. Comtet, Advanced Combinatorics: The Art of Finite and Infinite Expansions, Revised and Enlarged Edition, D. Reidel Publishing Co., Dordrecht and Boston, 1974.
- B.-N. Guo, I. Mező, and F. Qi, An explicit formula for the Bernoulli polynomials in terms of the r-Stirling numbers of the second kind, Rocky Mountain J. Math. 46 (2016), no. 6, 1919–1923; Available online at http://dx.doi.org/10.1216/RMJ-2016-46-6-1919.
- [3] B.-N. Guo and F. Qi, An explicit formula for Bernoulli numbers in terms of Stirling numbers of the second kind, J. Anal. Number Theory 3 (2015), no. 1, 27–30; Available online at http: //dx.doi.org/10.12785/jant/030105.
- [4] B.-N. Guo and F. Qi, On inequalities for the exponential and logarithmic functions and means, Malays. J. Math. Sci. 10 (2016), no. 1, 23–34.
- [5] B.-N. Guo and F. Qi, Some identities and an explicit formula for Bernoulli and Stirling numbers, J. Comput. Appl. Math. 255 (2014), 568-579; Available online at http://dx.doi.org/10.1016/j.cam.2013.06.020.
- [6] C. Jordan, Calculus of Finite Differences, Chelsea, New York, 1965.
- [7] N. Nielsen, Gammafunktionen, Leipzig, 1906.
- [8] N. E. Nórlund, Vorlesungen 'uber Differenzenrechnung, Springer-Verlag, Berlin, 1924.

- [9] F. Qi, A new formula for the Bernoulli numbers of the second kind in terms of the Stirling numbers of the first kind, Publ. Inst. Math. (Beograd) (N.S.) 100 (114) (2016), 243-249; Available online at http://dx.doi.org/10.2298/PIM150501028Q.
- [10] F. Qi, Diagonal recurrence relations, inequalities, and monotonicity related to the Stirling numbers of the second kind, Math. Inequal. Appl. 19 (2016), no. 1, 313–323; Available online at http://dx.doi.org/10.7153/mia-19-23.
- [11] F. Qi, Explicit formulas for computing Bernoulli numbers of the second kind and Stirling numbers of the first kind, Filomat 28 (2014), no. 2, 319–327; Available online at http://dx. doi.org/10.2298/FIL14023190.
- [12] F. Qi and R. J. Chapman, Two closed forms for the Bernoulli polynomials, J. Number Theory 159 (2016), 89–100; Available online at http://dx.doi.org/10.1016/j.jnt.2015.07.021.
- [13] F. Qi and B.-N. Guo, A closed form for the Stirling polynomials in terms of the Stirling numbers, Preprints 2017, 2017030055, 4 pages; Available online at http://dx.doi.org/10. 20944/preprints201703.0055.v1.
- [14] F. Qi and B.-N. Guo, Explicit formulas for special values of the Bell polynomials of the second kind and for the Euler numbers and polynomials, Mediterr. J. Math. 14 (2017), no. 3, Article 140, 14 pages; Available online at http://dx.doi.org/10.1007/s00009-017-0939-1.
- [15] A. Schreiber, Multivariate Stirling polynomials of the first and second kind, Discrete Math. 338 (2015), no. 12, 2462-2484; Available online at http://dx.doi.org/10.1016/j.disc.2015.06.008.
- [16] M. Ward, The representation of Stirling's numbers and Stirling's polynomials as sums of factorials, Amer. J. Math. 56 (1934), no. 1-4, 87–95; Available online at http://dx.doi.org/ 10.2307/2370916.
- [17] Z.-Z. Zhang and J.-Z. Yang, Notes on some identities related to the partial Bell polynomials, Tamsui Oxf. J. Inf. Math. Sci. 28 (2012), no. 1, 39–48.